~ FADO47
_~ FADO64
_~ FADO090
" FAD110
_~ FAD140
_~ FAD200
_~ FAD255

FAD

Series

SEIKO QUALITY

SHARED GLOBALLY

BIRR SHits

023




#1-=1% 8 MODEL ILLUMINATE

_______________________________________________________________

IR B
FAD047/FAD064/FADO90
FAD110/FAD140/FAD200/FAD255

_____________________________________________________________

_____________________________________________________________

L :
BAZR(L1): 4,5,7, 8,10
WK (L2): 20, 25, 35, 40, 50, 70, 100

______________________________________________________________

% FEfl: FAD090-10-P2 /MHMD-082G1U

_________________________________________

-
Pl : FEEEE
P2 : ftEishE

_________________________________________

____________________________________________________

OxES:
SiAHENES

__________________________________________________

024



8k -FAD EiEH

4 130 1100 1700
u 5 22 60 160 330 650 1200 2000
Z 6 = 55 150 310 600 = 2000
Sl 7 19 50 140 300 550 1100 1800
8 17 45 120 260 500 1000 1600
10 14 40 100 230 450 520 1220
N 20 19 48 130 270 560 1100 1700
HUERHNIE Ty Nm 25 22 60 160 330 650 1200 2000
35 22 60 160 330 650 1200 2000
R 40 22 48 130 270 560 1200 2000
Lo 50 22 60 160 330 650 1200 2000
60 - 55 150 310 600 - 1800
70 19 50 140 300 550 1100 1800
80 - 45 120 260 500 - 1800
100 14 40 100 230 450 520 1220
BAHHNME T Nm L1.L2 4~100 3EFER Y HiE
PERMANEE N, rpm L1.L2 4~100 5000 5000 4000 4000 3000 3000 2000
BRBNFERE n g rpm L1.L2 4~100 10000 10000 8000 8000 6000 6000 4000
. L1 4~10 = = <1 <1 <1 <1 <1
BRER] PO aromin =5 20~100 - <3 <3 <3 <3
_ L1 4~10 <3 <3 <3 <3 <3 <3 <3
REHR P aremin =5 20-100 <5 <5 <5 <5 <5 <5 <5
. L1 4~100 <5 <5 <5 <5 <5 <5 <5
R P2 aremin L2 20~100 <7 <7 <7 <7 <7 <7 <7
HEERIM Nmarcmin|  L1.L2 4~100 7 13 31 82 151 440 1006
BFREHN Fup | N L1.L2 4~100 425 125 235 430 1300 3064 5900
BHFHE N Foup N L1.L2 4~100 1080 2110 2310 4800 6200 5450 10600
ERE® hr L1.L2 4~100 20000°
o L1 4~10 = 97%
BE n % L2 20~100 = 94%
- . L1 4~10 0.7 1.2 3.0 5.6 11.9 31.6 56.1
= 9 L2 20~100 1.0 1.6 37 7.3 15.9 36.9 70.4
FERRE © L1.L2 4~100 -10°C ~+90°C
aE L1.L2 4~100 A RURE R £ 508
FrinsER L1.L2 4~100 IP65
Wfﬁﬁ L1.L2 4~100 AEHE
1£%8 (n,=3000rpm) | dB L1.L2 4~100 <56 <58 <60 | <63 | <65 <67 <70

B E -FAD &iE#Hl

4 0.03 0.14 0.51 2.87 7.54 25.03 58.31
5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
6 = 0.13 0.45 2.65 7.25 = =
L 7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
8 0.03 0.13 0.45 2.58 7.07 22.48 50.97
10 0.03 0.13 0.44 257 7.03 22.51 50.56
20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
EEiRE J kg - cm” 25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
40 0.03 0.03 0.13 0.44 257 7.03 22.51
L2 50 0.03 0.03 0.13 0.44 257 7.03 22.51
60 - 0.03 0.13 0.44 257 - -
70 0.03 0.03 0.13 0.44 257 7.03 2251
80 - 0.03 0.13 0.44 257 - -
100 0.03 0.03 0.13 0.44 257 7.03 22.51

1 BIEREE (i=N/Noy ) 2. HiEEE 100rpm B, (EAF@ SO ALE 3 ESEHERERET -0z —

025



5 R~FE% /OUTLINE DIMENSION SHEET

FAD-047-L1

HANIR/INPUT

4-M4x10

FAD-047-L2

AR/ INPUT

4-M4x10

" s/ OUTPUT
195 4 185
3 7| |5
=
= -
v/ D O
o 2 e g8 H R
SRERE I T 888
'/'
/ - il 35
)
30
%EER?K%—J _J
1SO 9409 SHERE6X2
s /OUTPUT
975
195 _4 46
3 7] 15
=
- .
v/ i O
o 2|3 5| & £ S
5| 8|8|8|5| I —pir EEE
l i 35
I %j
_/ 30
TR
i ﬁisos%sa SHFER56x2

WADREER R IHRIEE P 2R,

*The input motor specific dimensions could be customised.

026




M R ~FE% /OUTLINE DIMENSION SHEET

FAD-064-L1

i/ INPUT HitHig/OUTPUT
09
195 4
c7 BTl
=
= 16
o Z Y 2l 2 1B ] o 5| =
£ SEEEED I T 2 S S
J
[ ] _os
/ b= C8
Ve iF£66x2 d
150 9409
FAD-064-L2
g/ INPUT o iiHiR/OUTPUT
195 4
B I |r
H
5 y
F = y
8 2 !
b= T I I e of &=
EEELD Tl 8
ya U |
& [ E oo
| !
+H C8
EmkE e G2

150 9409

FAD-064-L1 81.5
—————————— 066.7 4-M4x10 28 34 @381 5 60 55 ——
FAD-064-L2 110.5
FAD-064-L1 81.5
——————— @70 4-M4x10,4-M5x12 211,014 34 @50 5 60 55 ———
FAD-064-L2 110.5
FAD-064-L1 88

——————— @90 4-M5x12,4-M6x14 @19 42 @70 65 80 12
FAD-064-L2 17

* C1~CTRATIREDIAEERC R AIiREE A ERPEIREH.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

027



5 R~FE% /OUTLINE DIMENSION SHEET

FAD-090-L1

BAIR/INPUT i/ OUTPUT
o
07
6 le 8
> |
- 3 I
SEEEER g e . iy
&ss&g/ L%,JT‘-’OQ
] |
1 ‘
| =i Co
c8
B 90 c4
1S0 9409
FAD-090-L2
BN/ INPUT % /OUTPUT
co
07
6_ 0 s © HT
i E 7-M6x13.5
g —r
E A\
~ o 23 53| 121 g \*'}*T 5|2
5 SEEEE SR R e
/ L cs
C1 / H = cs
] E}
| Fj,/ c4
éi%ﬁﬁ'ﬂ&?ﬁ/ 1159013

150 9409

@90  4-M5x12, 4-M6x14 @19 42 @70 6.5 80 7 104

@100 4-M6x14 216 42 @80 6.5 86 6 104
FAD-090-L1

2115 4-M8x20 219,022 565 @95 8 100 16.5 119.5

@145 4-M8x20 219,022,324 59 @110 M 130 19 122

266.7 4-M4x10 a8 34 @381 5 60 55 128

@70 4-M4x10,4-M5x12  @11,014 34 @50 5 60 55 128
FAD-090-L2

@90 4-M5x12, 4-M6x14 219 42 @70 6.5 80 12 1345

@100 4-M6x14 216 42 @80 6.5 86 11 1345

* C1~CTRARIREDIAEERC R AIiREE A ERPIRE.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

028



M R~FE% /OUTLINE DIMENSION SHEET

BN/ INPUT c9 g HiR/OUTPUT
29 8
6 10| 10 ° @geHT
3 ﬁ‘” i 11-M6x13.5
| i
] :
o |
o Sl Y = 5 12 g = ’@+T.\E
®| S o
5 SEEEER R aidis e
:
TL‘ > L] co
II 1 -
— c8
&ifmﬁmmﬁ/ £ 110x3 o
1S0 9409
BN/ INPUT oo %/ OUTPUT
29 8
610/ (10 ° Q6H7
, B 11-MBx13.5
ey
e}
] (i :
2 o
= | =l [12 ) _ & =
ﬁgg‘i:Iw 1 11 AR Bl s
5| 5|5|8 2 B+ & 88
e
|7 - 1]
! l e C8 o
| i) .
E / o ‘
EEHR R HFR110x3
130 9409

FAD-110-L1 @145 4-M8x20 ©19,022,324 64 3110 10 130 195 135
@200 4-M12x28 @35 81 21143 10 180 28 1525
@90  4-M5x12, 4-M6x14 @19 42 @70 6.5 80 7 1515
FAD-110-L2 @100 4-M6x14 216 42 @80 6.5 86 6 1515
2115 4-M8x20 19,022 56.5 @95 8 100 16,5 167
2145 4-M8x20 319,022,024 59 @110 1 130 19 169.5

* C1I~CTRABIWNEDIAER R R, Al iR A EREREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

029



5 R~FE% /OUTLINE DIMENSION SHEET

FAD-140-L1

EINER/INPUT HitHim/ OUTPUT
C9
38 10
6148 |1
C7 l §
T w
ol =l oy = | [12 3 | =
= 2 8|8 g| 4 H—{ B S
SESEESES TZ SRS
sz‘:‘mﬂm&/ i 4513

1S0 9409
FAD-140-L2
I/ INPUT Hithis /OUTPUT
Cc9
38 10
_6_148 |1
o | of 12 § _ , ! =
gé%{§§< 1=l i »j+ gigﬁ
SESEIESES e e e
%A | C6
[ 1 :
] Il 5
. / c8
BEEROHKE | H35145x3 C4

180 9409

19.5 162

222,024 72 @110 1 130

2145 4-M8x20
FAD-140-L1
2200 4-M12x28 @35 815 @1143 8 180 256 172
FAD-140-L2 2145 4-M8x20 @19,022,024 64 @110 10 130 195 206
21143 10 180 28 2235

FAD-140-L2 @200 4-M12x28 @35 81
* C1~CTRAFINESIAER R R AIREE A ZERPIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

030



M R~FE% /OUTLINE DIMENSION SHEET

FAD-200-L1
&

IR/ INPUT HitHiR/OUTPUT
50 12

C
S o0 RN\, -

\© o o g e e ©
© J(@ / e
w © O ¢ 17 8
& s C | et

' Ch
*‘-‘Jﬂl #H200x5

1S0 9409

FAD-200-L2

Q9

BN/ INPUT i HiR/OUTPUT
50 12
8] 15
C7
S, 2 > [l \
SAEpE : :
Ce=2X
AT o ool o el B|l©
5 = < = ~| =&
o 12k ‘&J REBEE B
(&) © \’J 0 Ry g s sl § Ul Ol &
Q g 8
I AN / B
= N S @ =
sAER0E. e :
45‘, 2 I £+ ﬁ
Ch
HERRTHRR #WH200x5
1S0 9409
R+t ci| c2 c3 c4 | c5 | c6 | €7 | C8 | C9
@200 4-M12X28 @35,042 82 @114.3 8 180 8.5 197.5
FAD200-L1 @200 4-M12X28 42 1175 @114.3 8 180 455 233
@215 4-M12X28 @38,042 87 2180 8 192 185 202.5
@145 4-M8X20 22,024 72 @110 11 130 19.5 250.5
FAD200-L2 @200 4-M12X28 @35 81.5 @114.3 8 180 25 260.5
@215 4-M12X28 238 82 @180 8 192 25 262.5

* C1~CTRARIREDIAEER Z R ATiRES A ERBIREH.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

031



5 R~FE% /OUTLINE DIMENSION SHEET

NN #iti%/ OUTPUT
c9
66 _18 82
Y 2 20] oo
IE
' 10
sl & 3 & & o o &
w| W O — - 44 - 4 L -4 R | N B+
© SEEEEPN F 888
Z p cé
l .= . C8
2 EEER IR ] J c4
109409 34T 238x5

NI/ INPUT g /OUTPUT
C9
66 18 148
12 29 [20
=
;
ol 2l =l 5| |2 (e = | E
3| 8l 2| 8| 5| F-Hd- SO - N N 7
8|8 8§ 5 & SRR
/" ] c6
l (24
’iJ C8
vy Cc4
SE=ERT KR
& Ei’sosﬁog SHER 238x5

220 10

FAD-255-L1 @235 4-M12x28 238,042 116 @200 6 256.5
@200 4-M12x28 @35 85 @1143 6 180 10 3115
FAD-255-1L2
@215 4-M12x28 @38 85 @180 6 190 19 3115

* C1~CTRATIWREDIAEER R ATREE A ERBIREM.

* C1~C7are motor(metric standard) specific dimensions, which could be customised,

032



